QUESTION PATTERN

for
ALL SUBJECTS EXCLUDING SANSKRIT, BENGALI, ENGLISH, AND ELECTRONICS
A) For 40 Marks:
S.L. No. Questions to be answered Out of | Marks of each question | Total Marks
1. 5 8 2 5x2 =10
2, 4 6 5 ax5 =20
3. 1 2 10 1x10 =10
B) For 25 Marks
S.L. No. Questions to be answered Out of | Marks of each question | Total Marks
1. 5 8 1 5x1=5
2. 2 4 5 2x5=10
3. 1 2/3%* 10 1x10=10
**Botany and Geography only
FOR SANSKRIT
A) For 40 Marks:
S.L. No. Questions to be answered Out of | Marks of each question | Total Marks
1 5 8 2 5x2 =10
2. 4 6 5 4x5=20
3. 1 3 10 1x10 =10
FOR BENGALI
A) For 40 Marks:
S.L. No. Questions to be answered Out of | Marks of each question | Total Marks
10 2 5x2 =10
5 2x5=10
10 2x10 =20
FOR ELECTRONICS
A) For 25 Marks (all questions should be whole number)
S.L. No. Questions to be answered Out of | Marks of each question | Total Marks
1. 3 6 1 3x1=3
2. 3 6 2 3x2=6
3. 2 4 5 2x5=10
4. 1 3 6 1x6=6
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FOR ENGLISH

Question Pattern UG English (B A Hons)

Each paper will have two broad divisions. In the First Unit there will be three broad questions of
10 marks cach, The questions will have to be answered from each component and cach
component will have two questions out of which one has to be answered. In the Second Unit
short questions will be set from components where 5 marks have been allotted separately,
(i.e.10+5). The short questions will be set together under one scction from the said components
and out of 10 such questions of 2 marks cach, 5 questions will have to be answered. So the

question pattern will be like the following:
Question Pattern UG English (B A Programme)

Each paper will have two broad divisions. In the First Unit there will be three broad questions of
10 marks cach. The questions will have to be answered from cach component and each
component will have two questions out of which one has to be answered. Where there are four
components of 10 marks, questions will be set from any three components. In the Second
Unit short objective type questions will be set from components where 5 marks have been
allotted separately, (i.e.10+5). In case of papers where there are four components of 10
marks each and no separate allotment of 5 marks has been done, short objective type
questions will be set from all four components. The short questions will be set together under
one section from the said components and out of 10 such questions of 2 marks each, 5 questions

will have to be answered. So the question pattern will be like the following:

A) For 40 Marks:

UNIT -1
Q. No. Questions to be answered Total Marks
a) orb) 10
a) or b) 10
a) or b) 10
UNIT-1I
Q. No. Questions to be answered Out of | Marks of each question | Total Marks
4, 5 10 2 5x2 =10
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